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[1] #pragma GCC target("avx2")
[2] #pragma GCC optimize("03")
[3]

[4] #include <iostream>

[5] #include <algorithm>

[6] #include <cmath>

[7] #include <iomanip>

[8] #include <numeric>

[9] #include <vector>

[18] #include <set>

[11] #include <map>

[12] #include <unordered_set>
[13] #include <unordered_map>
[14] using namespace std;

[15] #define int long long

[16] #define Mod (111 * 100@ * 1000 * 1000 + 7)
[17] //#define 11 long long
[18] #define maxn l@0080@

[19] #define maxm 186008

[2@8] #define maxq 100688

[21] int n, q;

[22] int a[maxn + 1];

[23] int T[maxq + 11;

[24] struct segtree {

[25] int 1b, rb;

[26] segtree *1 = nullptr, *r = nullptr;

[27] segtree() {}

[28] segtree(int _1b, int _rb): 1b(_1lb), rb(_rb) {

[29] if (1b < rb) £

[3@] 1 = new segtree(lb, (1b + rb) / 2); r = new segtree((lb + rb) / 2 + 1, rb);
[31] 1

[32] 3

[33] 3

[34] segtree *root;
[35] int quant(int num, int i) {

[36] if (1 <0 || num == 8) {

[371] return 8;

[38]

[39] if (num >= T[i]) {

[4@] return 1 + quant(num - T[i], 1 - 1);
[41] }

[42] return quant(num, i - 1);

(431}

[44] signed main() {

[45] ios_base::sync_with_stdio(false);

[46] cin.tie(nullptr);

[471] cin »> n;

[48] T[e] = T[1] = T[2] = @; T[3] = T[4] = 1;
[49] int g = 4;

[50]  while (T[q] <= (111 << 32)) {

[51] Tlg + 1] = T[q] + T[q - 1] + T[g - 2] + T[q - 3];
[52] q++;

[53] }

[54] int ans = 8;

[55] for (int i = 8; i < n; i++) {

[56] cin »> a[il;

[57] if (1(quant(a[i], @) % 2)) {

[58] ans++;

[52] }

[6@] }

[61] cout << ans << endl;

(621}
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[1] #pragma GCC target("avx2")
[2] #pragma GCC optimize("03")
[3]

[4] #include <iostream>

[5] #include <algorithm>

[6] #include <cmath>

[7] #include <iomanip>

[8] #include <numeric>

[9] #include <string>

[18] #include <vector:>

[11] #include <set>

[12] #include <map>

[13] #include <unordered_set>
[14] #include <unordered_map>
[15] using namespace std;

[16] #define int long long

[17] #define Mod (111 * 1000 * 1000 * 1000 + 7)
[18] //#define 11 long long
[19] #define maxn 500

[28] #define maxm 100088

[21] #define maxq lepeae

[22] #define maxr 20

[23] #define maxc 200

[24] struct segtree {

[25] int 1b, rb;

[26] segtree *1 = nullptr, *r = nullptr;

[27] segtree() {}

[28] segtree(int _lb, int _rb): 1b(_1b), rb(_rb) {

[29] iF (1b < rb) {

[3@] 1 = new segtree(lb, (1b + rb) / 2); r = new segtree((lb + rb) / 2 + 1, rb);
[31] T

[32] 1

[331 J;

[34] string str;

[35] map<char, int> id;

[36] map<int, char> ch;

[37] int arr[8][5080];

[38] int ind = B;

[39] void add(int j, int 1) {

[48] int 1 = 1;

[41] while (arr[j][i] == 7) {
[42] arr[j][1] = @;

[43] i--;

[44]

[45] arr[J1[1]++;

[46]

[47] wvoid evolvo(int 1) {

[48] if (id[str[ind]] == 8) {
[49] ind++;

[5@] for (int i = @; i < 8; i++) {
[51] evolve(l + 1);
[52] ¥

[53] return;

[54] }

[55] int j = id[str[ind]];
[56] add(3, 1);

[571] ind++;

[58]

[59] bool equal(int i, int j) {
[6@] int ¢ = 8;

[61] while (c < 5000 && arr[i][c] == arr[j][c]) {
[62] c++;

[63] }

[64] return (c == 5008);

[651 1}

[66] bool compare(int i, int j) {
[671] int ¢ = 9;

[68] while (c < 5000 && arr[i][c] == arr[j][c]) {
[69] c++;

[70] b

[71] if (c == 5000) {

[72] return false;

[73] }



[74]
(751 &

return arr[i][c] < arr[j]llc];

[76] woid print(int j) {

[77]
[78]
[79]
[80]
[81]
[82]
[83]
[84]
[85]
[86]
[87]
[88]
[89]
[9@]
[91]
[92]
[93]
[94]
[95]
[96]
[97]
[98]
[99]
[100]
[101] }

cout << ch[j] << endl;

if (arr[jlle] == 1) {
cout << "1.8" << endl;
return;

¥

cout << "@.";

vector<int> wvc;

for (int 1 = 1; i < 50@0; i++) {
int ¢ = arr[j][1];
vc.push_back((c & 4) > 8);
vc.push_back((c & 2) > @);
vc.push_back((c & 1) > 8);

}

while (vc[vc.size() - 1] == @) {
vc.pop_back();

¥
for (int ¢ : vc) {
if (o) {
cout << '1°;
1 else {
cout << '@";
b
¥

cout << endl;

[1e2] signed main() {

[183] ios_base: :sync_with_stdio{false);
[104] cin.tie(nullptr);

[1e5] id['Q"'] = 8;

[106]  id['W'] = 7;

[107]  id['R'] = 6;

[108]  id['0'] = 5;

[109]  id['Y'] = 4;

[116]  id['G'] = 3;

[111]  id['C'] = 2;

[112] id['B'] = 1;

[113]  id['V'] = @;

[114]  ch[B] = 'V';

[115]  ch[1] = 'B';

[116]  ch[2] = 'C';

[117]  ch[3] = 'G';

[118]  ch[4] = 'Y';

[119]  ch[5] = '0';

[126]  ch[6] = 'R';

[121] ch[7] = 'W';

[122] for (int i = @; 1 < 50800; i++) {
[123] for (int j = B; j < 8; j++) {
[124] are[§1[4] = 0;

[125] }

[126] ¥

[127] cin »> str;

[128] evolvo(@);

[129] int i = @;

[130] for (int j = 1; j < 8; j++) {
[131] if (compare(i, j)) {

[132] i=3;

[133] } else if (equal(i, j) && ch[i] - 'A'
[134] i=73;

[135] }

[136]

[137] print(i);

[138] }

[139] /*

[148]Q, W, R, O, Y, G, C, B, V wau D,
[141] */

[142] // QODWWIWWWI QUDIWWWWL DDMWWMWW

[143] // QWROYGCBV

> ch[3] - "A") {
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[1] #pragma GCC target("avx2")
[2] #pragma GCC optimize("03")
[3]

[4] #include <iostream>

[5] #include <algorithm>

[6] #include <cmath>

[7] #include <iomanip>

[8] #include <numeric>

[9] #include <string>

[18] #include <vector:>

[11] #include <set>

[12] #include <map>

[13] #include <unordered_set>
[14] #include <unordered_map>
[15] using namespace std;

[16] #define int long long

[17] #define Mod (111 * 1000 * 1060 * 1600 + 7)
[18] //#define 11 long long
[18] #define maxn 580

[28] #define maxm 168686

[21] #define maxq 100008

[22] #define maxr 20

[23] #define maxc 200

[24] struct segtree {

[25] int 1b, rb;

[26] segtree *1 = nullptr, *r = nullptr;

[27] segtree() {}

[28] segtree(int _lb, int _rb): 1b(_1b), rb(_rb) {

[29] if (1b < rb) {

[38] 1 = new segtree(lb, (lb + rb) / 2); r = new segtree((lb + rb) / 2 + 1, rb);
[31] }

[32] ¥

[33] L

[34] int n;

[35] string str[maxn];
[36] int dig[maxn][16@];
[37] string get_digit(int num) {

[38] if (pum == 1) {

[39] return "i";

[48] } else if (num == 2) {

[41] return "i(";

[42] } else if (num == 3) {

[43] return "i((";

[44] } else if (num == 4) {

[45] return "I";

[46] } else if (num == 5) {

[471 return "I(";

[48] } else if (num == &) {

[49] return "I((";

[58] } else if (num == 7) {

[51] return "J";

[52] } else if (num == 8) {

[53] return "J}";

[54] } else if (num == 9) {

[55] return "J))";

[56] } else if (num == 18) {

[57] return "3";

[58] } else if (num == 11) {

[59] return "j)";

[68]

[61] return "j))";

[62] }

[63] wvoid convert(int i) {

[64] for (int j = @8; j < 188; j++) {
[65] dig[i1[3] = e;

[66] b

[67] if (str[i] == "[1") {

[68] return;

[62] b

[7@] int p = 8;

[71] int len = (int)str[i].size();
[72] int ¢ = @6;

[73] while (p < len) {

[74] int g = p + 1;

[75] while (q < len && str[i][q] == '(' || str[il[q] == ")') {
[76e] q++;

[77] 3

[78] if (ste[illp] == '1i") {
[79] dig[i][c] = 1;

[8@8] } else if (str[i][p] == 'T') {
[81] dig[i][c] = 4;

[82] 1} else if (str[i]l[p] == '3') {
[83] dig[i][c] = 7;



[84] } else if (str[i][p] == 'j') {

[85] dig[i][c] = 18;

[86]

[87] dig[iJ[c] +=q - p - 1;
[88] c++;

[89] P =4q;

[9e] }

[e1] 1}

[92] bool compare(int i, int j) {

[93] if (i==3){

[94] return false;

[95] }

[96] int ¢ = 99;

[97] while (c >= @ &R dig[i][c] == dig[j][c]) {
[98] c--;

[99] }

[1e8@] if (c < @) {

[181] return false;

[102]

[183] return dig[i][c] < dig[j]1[c];
[1e4] }

[105] void printnum(int num) {

[1e6] if (num > 144 + 12) {

[187] int id = num / 144;

[188] string sd = get_digit(id);
[109] printnum(num % 144);
[11@] cout << sd;

[111] } else if (num > 12) {

[112] int id = num / 12;

[113] string sd = get digit(id);
[114] printnum(num % 12);

[115] cout << sd;

[116] } else if (num > @) {

[117] int id = num;

[118] string sd = get digit(id);
[119] cout << sd;

[128] h

[121] }

[122] signed main() {

[123] ios_base: :sync_with_stdio(false);
[124] cin.tie(nullptr);

[125] cin »>> n;

[126] for (int 1 = 8; 1 < n; i++) {
[127] cin »» str[i];

[128] convert(i);

[129] }

[138] int mn = 8, mx = 8;

[131] for (int 1 = 1; 1 < n; i++) {
[132] if (!compare(mn, i)) {
[133] mn = i;

[134] }

[135] if (!(compare(i, mx))) {
[136] mx = i;

[137] }

[138]

[139] if (mn == mx) {

[148] mx =n; mn =n - 1;

[141] 1 else {

[142] mn++; mx++;

[143] if (mn > mx) {

[144] swap(mn, mx);

[145] T

[146]

[147] printnum(mn) ;

[148] cout << endl;

[149] printnum(mx) ;

[158] cout << endl;

[151] }

[152] /*

[153] 3

[154] 3)3))ii
[155]3)9))ii
[156] 3)3))ii
[157] */
[158] /*
[159] 4

[160] 3)§))ii
[161]13))
[162]3))
[163] []
[164]
r1es1*/
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[1]

[2]

[3]

[4]

[5]

[e]

[7]

(8]

[9]

[18]
[11]
[12]
[13]
[14]
[15]
[16]
[17]
[18]
[19]
[20]
[21]
[22]
[23]
[24]
[25]
[26]
[27]
[28]
[29]
[3e]
[31]
[32]
[33]
[34]
[35]
[36]
[37]
[38]
[39]
[40]
[41]
[42]
[43]
[44]
[45]
[46]
[47]
[48]
[49]
[5e]
[51]
[52]
[53]
[54]
[55]
[56]
[57]
[58]
[59]
[60]
[61]
[62]
[63]

#pragma GCC target("avx2")
#pragma GCC optimize("03")

#include <iostream>
#include <algorithm>
#include <cmath>
#include <iomanip>
#include <numeric>
#include <string>
#include <vector>
#include <set>
#include <map>
#include <unordered_set>
#include <unordered_map>
using namespace std;
#define int long long
#define Mod (111 * 1000 * 1000 * 1000 + 7)
[ /#define 11 long long
#define maxn 50080
#define maxm 190008
#define maxq 106088
#define maxr 20
#define maxc 20880
struct segtree {
int 1b, rb;
segtree *1 = nullptr, *r = nullptr;
segtree() {}
segtree(int _1b, int _rb): 1b{_1b), rb(_rb) {
if (1b < rb) {
1 = new segtree(lb, (lb + rb) / 2); r = new segtree((lb + rb) / 2 + 1, rb);
}

};

int r, c;
int f[maxr][maxc];
int quant[maxr][maxr][maxr][maxc];
int getsum(int i1, int 12, int i3, int 3) {
if (i1 == 12 and i2 == i3) {
return f[11][3];
} else if (i1 == i2) {
return f[i1][3] + f[i3][3];
} else if (i2 == i3) {
return f[i1][3] + f[i2][3];
} else if (i3 == i1) {
return f[i2][3] + f[i3][3];

L
return f[i1][j] + f[i2][3] + f[i3]1[3];

int getval(int i1, int 12, int i3, int j) {
if (i1 <@ || i1 »=r) {
return -1;

¥
if (i2 <@ |] i2 »=r) {
return -1;

}
if (i3 <@ || i3 >=r) {
return -1;

}
return quant[i1][i2]1[i3]1[3]1;
¥
int getprev(int i1, int i2, int i3, int j) {

int mx = -1;



[64] for (int d1 = -1; d1 <= 1; di1++) {

[65] for (int d2 = -1; d2 <= 1; d2++) {

[66] for (int d3 = -1; d3 <= 1; d3++) {

[67] mx = max(mx, getval(il + d1, i2 + d2, i3 + d3, j - 1));
[68] }

[69] }

[7e] }

[71] return mx;

[72]

[73] signed main() {

[74] ios_base::sync_with_stdio(false);

[75] cin.tie(nullptr);

[76] cin >> r >»> ¢;

[77] int rl, r2, r3;

[78] cin >> rl >> r2 »> r3;

[79] for (int i = 8; 1 < r; i++) {

[8@] for (int j = 8; J < c; j++) {

[81] cin »> f[i1[31;

[82] }

[83] ¥

[84] for (int i1 = @; 41 < r; il++) {

[85] for (int 12 = 8; 12 < r; i2++) {

[86] for (int i3 = 8; i3 < r; i3++) {

[87] quant[i1][i2][i3][@] = -1;

[88] 1

[89] }

[9e] ¥

[91] quant[rl][r2][r3][@] = getsum(rl, r2, r3, @);

[92] int ans = -1;

[93] for (int j = 1; j < c; j++) {

[94] for (int i1 = 8; il < r; il++) {

[95] for (int i2 = @; 12 < r; i2++) {

[96] for (int i3 = @; 13 < r; i3++) {

[97] int mx = getprev(il, i2, i3, j);

[98] quant[i1][i2][i3][J] = mx;

[99] iF (mx 1= -1) {

[100] quant[i1][i2][i3][j] += getsum(il, i2, i3, j);
[101] ans = max{ans, quant[11][i2][13][3]1);

[1e2] ¥

[1e3] I

[1e4] }

[1e5] }

[1e6] }

[187] cout << ans << endl;

[1e8] }

[189] /*

[118]5 10

[111] @
[112] @
[113] 1
[114] 2
[115] 3
[116] @
[117]
[1181 */

@ WM DN
@ WM R @R
W op =@
oW R E
[« VAR LS O <]
@ WM RE®
@ WNE
D W R
@ WM R ®

s
@
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[1] #pragma GCC target("avx2")
[2] #pragma GCC optimize("03")
[31

[4] #include <iostream»

[5] #include <algorithm>

[6] #include <cmath>

[7] #include <iomanip>

[8] #include <numeric>

[9] #include <string>

[18] #include <vector>

[11] #include <set>

[12] #include <map>

[13] #include <unordered_set>»
[14] #include <uncrdered_map>
[15] using namespace std;

[16] #define int long long

[17] #define Mod (111 * 1P@@ * 1000 * 1800 + 7)
[18] //#define 11 long long
[19] #define maxn 50008

[28] #define maxm 160080

[21] #define maxq 100000

[22] int n, m;

[23] int a[maxn + 1];

[24] std: :string s;

[25] int pref[maxn + 1][100@];
[26] std::string t;

[27] int quant[1le@];

[28] struct segtree {

[29] int 1b, rb;

[3e] segtree *1 = nullptr, *r = nullptr;

[31] segtree() {}

[32] segtree(int _lb, int _rb): 1b(_1b), rb(_rb) {

[33] if (1b < rb) {

[34] 1 = new segtree(lb, (1b + rb) / 2); r = new segtree((lb + rb) / 2 + 1, rb);
[35] h

[36]

[371%;

[38] segtree *root;
[39] signed main() {

[48] ios_base::sync_with_stdio(false);
[41] cin.tie(nullptr);
[42] cin »» s »>> t;
[43] n = (int)s.size(); m = (int)t.size();
[44] for (int j = @; j < 100; j++) {
[45] pref[@][]] = @;
[46] quant[j] = @;
[47] 3
[48] for (int i = 1; i <= n; i++) {
[49] for (int j = @; j < 100; j++) {
[5e] pref[1][j] = pref[i - 1][]];
[51] h
[52] pref[i][s[i - 1] - 33]++;
[53] }
[54] for (int i = @; i < m; i++) {
[55] quant[t[1i] - 33]++;
[s6] )
[57] int len = n + 1, ind = -1;
[58] int pointer[18@];
[59] for (int § = ©; J < 109; Jj++) {
[68] pointer[j] = @;
[61] }
[62] for (int i = @; i < n; i++) {
[63] int mx = 1i;
[64] bool b = true;
[65] for (int j = @; j < 100 && b; j++) {
[66] while (pointer[j] < i || (pointer[j] < n - 1 && pref[pointer[j] + 1][j] - pref[i]
[671[3] < quant[j])) {
[68] pointer[j]++;
[69] }
[78] mx = max(mx, pointer[j]);
[71] if (pref[pointer[j] + 11[3]1 - pref[11[j] < quant[j]) {
[72] b = false;
[73] }
[74] ¥
[75] if (b && mx - 1 + 1 < len) {
[76] len = mx - 1 + 1;
[77] ind = i;
[78] ¥
[79] 3
[8@] if (len <= n) {
[81] for (int j = @; j < len; j++) {
[82] cout << s[ind + j];
[83] h
[84] cout << endl;
[85] 1 else {
[86] cout << "" << endl;
[871] 3
}
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[1] #pragma GCC target("avx2")
[2] #pragma GCC optimize("03")
[3]

[4] #include <iostream>

[5] #include <algorithm>

[6] #include <cmath>

[7] #include <iomanip>

[8] #include <numeric>

[9] #include <string>

[18] #include <vector>

[11] #include <set>

[12] #include <map>

[13] #include <unordered_set>
[14] #include <unordered_map>
[15] using namespace std;

[16] #define int long long

[17] #define Mod (111 * 1P@@ * 1000 * 1000 + 7)
[18] #define p 257

[19] //#define 11 long long
[20] #define maxn 10806

[21] #define maxm 108080

[22] #define maxq 100680

[23] #define maxr 20

[24] #define maxc 200

[25] struct segtree {

[26] int 1b, rb;

[27] segtree #1 = nullptr, *r = nullptr;

[28] segtree() {}

[29] segtree(int _1b, int _rb): 1b(_1b), rb(_rb) {

[30] if (1b < rb) {

[31] 1 = new segtree(lb, (1b + rb) / 2); r = new segtree((lb + rb) / 2 + 1, rb);
[32] L

(331 )

[34] 3;

[35] int n;

[36] map<string, int> id_task;

[37] string cs;

[38] int g[maxn];

[39] wector<vector<bool> > sub[maxn];
[40] wvoid analysis(int ind) {

[41] set<int> hash;

[42] int quant = @;

[43] for (int i = 8; i < q[ind]; i++) {

[44] quant = max(quant, (int)sub[ind][i].size());
[45] ¥

[46] for (int j = @; j < quant; Jj++) {

[471] int h = 8;

[48] for (int 1 = @; 1 < q[ind]; i++) {

[49] h *= p;

[50] if (h >= Mod) {

[51] h %= Mod;

[52] ¥

[53] if (sub[ind][i].size() > 3F) {

[54] h += sub[ind][i1[3];

[55] 1

[56] if (h >= Mod) {

[57] h -= Mod;

[58] }

[59] ¥

[68] hash.insert(h);

[61] }

[62] cout << quant << ' ' << hash.size() << endl;
[63] }

[64] bool comp(pair<string, int> A, pair<string, int> B) {
[65] int ind = 8;

[66] while (ind < A.first.size() && ind < B.first.size() &&% A.first[ind] - 33 == B.first[ind] - 33) {
[67] ind++;

[68] L

[69] if (ind >= A.first.size() && ind >= B.first.size()) {
[78] return false;

[71] ¥

10



[72] if (ind »= A.first.size()) {

[73] return true;

[74] b

[75] if (ind »>= B.first.size()) {

[76] return false;

[77] ¥

[78] return A.first[ind] - 33 < B.first[ind] - 33;
[79] }

[80] signed main() {

[81] ios_base::sync_with_stdio(false);

[82] cin.tie(nullptr);

[83] n=8;

[84] while (getline(cin, cs)) {

[85] if (cs.empty()) {

[86] break;

[87] }

[88] string id;

[89] int i = B;

[90] while (cs[i] != *;") {

[91] id += es[i];

[92] i++;

[93] }

[94] i++;

[95] int ind = -1;

[96] if (id_task.count(id)) {

[97] ind = id_task[id];

[98] T else {

[99] ind = n;

[18@] qlind] = @;

[181] id_task[id] = n;

[102] nt;

[163]

[184] qlind]++;

[1685] sub[ind].resize(q[ind]);

[106] sub[ind][q[ind] - 1].clear();
[187] while (i < cs.size()) {

[1e8] if (i + 1 < cs.size() &R cs[i] == '0' && cs[i + 1] == 'K') {
[109] sub[ind][g[ind] - 1].push_back(true);
[118] T else {

[111] sub[ind][q[ind] - 1].push_back(false);
[112] }

[113] while (i < cs.size() && cs[i] != *;') {
[114] i++;

[115] T

[116] i++;

[117] T

[118] 1

[119] vector<pair<string, int> > an;

[128] for (pair<string, int> pr : id_task) {
[121] an.push_back(pr);

[122]

[123] sort(an.begin(), an.end());

[124] for (int ind = @; ind < n; ind++) {
[125] analysis(an[ind].second);

[126] T

[127]}

[128] /*

[129] A;OK ;0K ;0K
[138] B;0K;0K; 0K; 0K
[131] A;OK;RT;RT
[132] B;OK;RT;0K
[133] A; OK;WA;RT
[134] B;0K;WA; WA ; PE
[135]

[136]

[1371%*/
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